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10.2 RADIOACTIVITY


Name: ___________________

1. ISOTOPES
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Atoms of the same element can have different atomic masses. 
Remember, an element is defined by the number of protons in its nucleus
Therefore, the difference in mass is due to the number of _______________ in the nucleus

Atoms with the same number protons but differing number of ______________ are known as _______________ 
All _______________ of the same element have the same chemical properties.

Nuclear Symbol: element symbol that includes both the ____________________ and  ___________________
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Example 1: Carbon has three isotopes: carbon 12, 13 and 14. Each one has 6 protons but….
Carbon-12 has ______ neutrons 
Carbon-13 has ______ neutrons 
Carbon 14 has ______ neutrons.
Example 2: Hydrogen has three isotopes: Hydrogen 1, 2 and 3. Hydrogen 2 is called deuterium and hydrogen 3 is called tritium.  (Write the element symbol for each below)
	Hydrogen-1
	Hydrogen-2
	Hydrogen-3
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Example 3: Write the symbols for the following isotopes of Helium.
	Helium-5
	Helium-6

	
	

	Helium-7
	Helium-8

	
	


Questions:

1. Fill in the following chart:
	Isotope name
	Symbol
	Number of Protons
	Number of Neutrons

	Astatine-211
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	85
	126

	
	
	92
	143

	Magnesium-25
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	17
	20

	Deuterium
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	Palladium-102


	
	
	

	
	
	53
	74

	Tantalum-180
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2. What is the difference between atomic mass and mass number?

3. If the vast majority of carbon atoms contain 6 protons and 6 neutrons why is the atomic mass of carbon 12.01? (How the heck can you have 0.01 of a proton/neutron!?)
4. What is the difference between a container filled with carbon-12 and a container filled with carbon?

